



St. Louis County, Minnesota

Date of Report: 12/16/2025 3:20:35 PM

**General Details** 

 Parcel ID:
 215-0010-02706

 Document:
 Abstract - 804621

 Document Date:
 11/20/2000

**Legal Description Details** 

Plat Name: ANGORA

Section Township Range Lot Block

16 61 18 -

Description: S 970 FT OF E 659 FT OF NE1/4 OF NW1/4 & INC THAT PART OF NE1/4 OF NW1/4 COMM AT NE COR OF

NE1/4 OF NW1/4 THENCE N89DEG50'06"W ALONG N LINE 659 FT THENCE S00DEG16'41"E 350 FT TO PT OF BEG THENCE S89DEG50'06"E 659 FT TO E LINE OF NE1/4 OF NW1/4 THENCE S00DEG16'41"E ALONG E LINE 97.31 FT TO N LINE OF S 970 FT THENCE N89DEG45'09"W ALONG SAID N LINE 659.03 FT TO W LINE OF E 659 FT THENCE N00DEG15'59"W 96.35 FT TO PT OF BEG & INC SE1/4 OF NW1/4 & INC N1/2 OF NE1/4 OF

SW1/4

**Taxpayer Details** 

Taxpayer Name HOCHE JOHANN E

and Address: 9028 TEE RD

ANGORA MN 55703-8148

**Owner Details** 

Owner Name HOCHE JOHANN E
Owner Name HOCHE TRENA

**Payable 2025 Tax Summary** 

2025 - Net Tax \$4,611.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$4,696.00

**Current Tax Due (as of 12/15/2025)** 

Due May 15		Due October 15	5	Total Due		
2025 - 1st Half Tax	\$2,348.00	2025 - 2nd Half Tax	\$2,348.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$2,348.00	2025 - 2nd Half Tax Paid	\$2,348.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

**Property Address:** 9028 TEE RD, ANGORA MN

School District: 2142

Tax Increment District: -

Property/Homesteader: HOCHE, JOHANN E & TRENA J

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$38,200	\$485,000	\$523,200	\$0	\$0	-	
112	0 - Non Homestead	\$80,600	\$0	\$80,600	\$0	\$0	-	
	Total:	\$118,800	\$485,000	\$603,800	\$0	\$0	5814	





St. Louis County, Minnesota

Date of Report: 12/16/2025 3:20:35 PM

**Land Details** 

Deeded Acres: 76.17 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

		Improve	ement 1 De	etails (HOUSE	Ξ)				
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Des				
HOUSE	2006	2,657 2,657		U Quality / 0 Ft <sup>2</sup>	RAM - RAMBL/RNO				
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	0	0	760	BASEM	ENT			
BAS	1	0	0	902	BASEM	ENT			
BAS	1	0	0	995	BASEM	ENT			
OP	0	6	14	84	FLOATING	SLAB			
OP	0	12	16	192	POST ON G				
OP	0	24	13	312	FLOATING	SSLAB			
Bath Count	Bedroom Count		Room C	ount	Fireplace Count	HVAC			
2.0 BATHS	2 BEDROOMS		5 ROOM	<b>IS</b>	1 (	C&AIR_COND, ELECTR			
Improvement 2 Details (AT GARAGE)									
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des			
GARAGE	2008	70	2	702	-	ATTACHED			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	26	27	702	FOUNDA	TION			
	ı	mprover	ment 3 De	tails (40X62 P	B)				
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & De			
POLE BUILDING	2002	2,4	80	2,480	-	-			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	40	62	2,480	FLOATING	SLAB			
LT	1	16	62	992	FLOATING	SLAB			
		mprovei	ment 4 De	tails (GARAG	E)				
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des			
GARAGE	2003	1,1	76	1,176	-	DETACHED			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	28	42	1,176	FLOATING	SLAB			
	lm	provem	ent 5 Deta	ils (POLE BLI	DG)				
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des			
POLE BUILDING	0	2,5	20	2,520	-	-			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	28	20	560	POST ON G	ROUND			





St. Louis County, Minnesota

Date of Report: 12/16/2025 3:20:35 PM

		les		LUD 00117						
Improvement Torr	oe Year Built	•	nent 6 Details (S	· · · · · · · · · · · · · · · · · · ·	oment Finish	Chula	Codo & Doco			
Improvement Type Year Built STORAGE BUILDING 0				Area Ft - Bas 24	Basement Finish Style Code & I					
				Area						
Segment Sto		y <b>vvid</b> iii 8	28	224		POST ON GROUND				
Brito					1 001 011	31(00)10	OND			
<u>.</u>		•	nent 7 Details (S	•						
Improvement Typ						Style	Style Code & Desc.			
STORAGE BUILDII		224 224					-			
Segme		y Width 8	Length 28	Area	Foundation POST ON GROUND					
BAS				224		3KOUND				
		Sales Reported	to the St. Louis	County Audito	r					
No Sales informa	ition reported.									
		Δ	ssessment Hist	orv						
	Class	Α.		01 <b>y</b>	Def	Def				
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity			
i cai	201	\$41,100	\$440,300	\$481,400	\$0	\$0	- Capacity			
2024 Payable 2025	112	\$88,500	\$0	\$88,500	\$0	\$0	-			
2024 Payable 2025	Total	\$129,600	\$440,300	\$569,900	\$0	\$0	5,357.00			
	201	\$33.600	\$440,300	\$473,900	\$0	\$0				
2023 Payable 2024	112	\$68,200	\$0	\$68.200	\$0	\$0	_			
2023 Payable 2024	Total	\$101,800	\$440,300	\$542,100	\$0	\$0	5,182.00			
	201	` ′	` ′	1 1	\$0	\$0	3,102.00			
2022 Payable 2023	112	\$33,600 \$68,200	\$420,300 \$0	\$453,900 \$68,200	\$0	\$0				
	Total	. ,	1	· · ·	\$0	\$0				
	1 - 1 - 1	\$101,800	\$420,300	\$522,100	•	* -	4,982.00			
2021 Payable 2022	201	\$33,600	\$355,000	\$388,600	\$0	\$0	-			
	112	\$68,200	\$0	\$68,200	\$0	\$0				
	Total	\$101,800	\$355,000	\$456,800	\$0	\$0	4,306.00			
			Γax Detail Histo	ry						
			Total Tax &							
Tax Year	Tax	Special Assessments	Special Assessments	Taxable Land M	Taxable Bui / MV		al Taxable MV			
2024	\$4,929.00	\$85.00	\$5,014.00	\$101,800	\$440,30		\$542,100			
2023	\$4,919.00	\$85.00	\$5,004.00	\$101,800	\$420,30		\$522,100			
2022	\$4,775.00	\$85.00	\$4,860.00	\$101,604	\$352,93		\$454,534			
	Ţ :,: 3.00	Ţ <b></b>	Ţ .,500.00	+ ,	, <del>, , , , , , , , , , , , , , , , , , </del>	-	,,			





St. Louis County, Minnesota

Date of Report: 12/16/2025 3:20:35 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.